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A : 3G F97-97 & 15 597 & Sy e @ver . o, ‘A, T 7 FFe I E

() &% B aTgEr 1 ¥ 1 siw % @ TGS FAT T AT &

(i) &T T T1 o% F v olfowg Fwiq 59T &

(i) & G 72 ofF 3 T Ty AT g7 &

(iv) @& T 7F o=iRe ey & a4 o & & [FaeTs 597 &
Note : This guestion paper consists of 15 \questions.-which“are divided into four

Sections : 'A', 'B', 'C' and 'D' :

(i)  Section 'A’ consists of Question No. 1 has ten Objective Type Questions of
1 mark each. 4y

(i) Section 'B' consists of four Very Short Answer Type 'Que'stions of 1 mark
each. ' '

(iii) Section 'C' consists of seven Short Answer Type Questions of 2 marks

each.

(iv) Section 'D' consists of three Essay Type Queétions of4 marks each with

Internal choice.

s - 3
SECTION - A
1. @ " o & ol ud% 1 &% B
All questions are compulsory and carry 1 mark each. _
"(i)"'Ro'ngaﬁw%? - " _ 1

(a) G emeege AN '
(b) e ofrreh iy
(c) Yo TR Ay

(d) R ogege A
3208 |
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(i1)

(i)

(3) 3208
What is the full form of ROM ? : ' '

(a) Readable Output Memory
(p) Read Only Memory
(c) Random Access Memory

(d) ReWritten Output Memory

(50)10 % binary uffwfe @1 8 ? 1
(a) 110010

(b) 101011

(c) 111000

(d) 100010

What is the binary representation of (50)16 (decimal number) ?

fa) 110010 . | P

(b) 101011

(c) 111000

(d 100010

M X I 0 % B g 7 B orgAly & Ry T B o e § W @
M TR F g9 e A 39 Rafy # e X BE-A aEe oy )R ¥ ?

1
(a) B =
(b) BfET

(o) TR AT

(d) TR
' P.T.O.
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Mr. X gains unauthorized access to a bank's server and manipulates the
system to transfer funds to his own account. What cybercrime is Mr. X

committing in this case ?

(@) Identity theft

(b) Hacking

() Cyber bullying

(d) Phishing

(iv) "ASCII" % QU &9 T & ?

(a) TARET @ved BT B e sz'ré‘hf

(b) TSRS R His W FA

0 S Sved A it ST R

(d) SRR Bvss B B FAHAIH FeT

What does the "ASCI»I" stand for ?

(a) American Standard Code for International Interchange
(b). Advanced Symbolic Code for Information Interchange

(c) Automated Standard Code for Information Inte'gratidn

(d} American Standard Code for Information Interchange
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s I — qE g & FTH Qe 9 AW @ Hey Aol ARd @ oTh
Haellr S, S arEEE A1 BT #E AR, e F F fw qean @y 1

.eoreune. Tefers to the practice of sending fraudulent e-mails or messages
to trick individuals into revealing sensitive information such as passwords

or credit card numbers.

(vi) FGEX F TR AR A AT B B T B R s Rt & ¥

S is responsible for performing all arithmetic and logical operations

in a computer.

(vii) FET FHCT T & AT § FI AN €RS FF wem FYfeT wah % M-
e o e A B (wrmm)

- Cloud  computing provides on-demand access to- shared computing

resources over _the internet, such as servers and storage. (True/False)
(viii) W #, while 9 1 IUEN T4 A1 M & S FRGRE HHEA B A S Al
(wEy T 1

In Python, the while loop is used when the number of iterations is known
in advance. ' ' | (True/False)

ﬁé&r:%ﬁqn&nﬁr (ix T x) ¥, AT (A) X RO (R) & &7 § Rifeeq @ w9 B
T 9§ A Ru e Rt § @ g8 R @ aw i

Direction : In the questions (ix to x) given below, there are two statements marked
as Assertion (A) and Reason (R). Choose the correct option out of the choices given

below in each question

3208 | P.T.O.
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(ix) SRR (4) : wﬁﬁ%@%ﬁammaﬁﬁﬁm%ﬁfmww

smmaﬁrmmaﬁt%%ﬁﬁﬁmﬁml !

2T (R): Al R @ et wd @ a3 R A g R A @

SAELIH Bl ol
faweT
@ (&) A (R) A T ¥ AR (R), () B = ¥
wfwﬁwﬁWﬁﬁ%mmﬂ@wwﬁ%
(c) (A) & %, Al (R) oT6A 3

(d) (A) oTad ¥, AR (R) T B

- Assertion (A) : Artificial Intelligence (Al) can perform tasks that usually

require human intelligence, such as voice recognition.

Reason (R) : Al systems always require human guidance to perform even

simple tasks.
Options :
(a) Both (A) and (R) are c:orfect and (R) is correct explanation of (A).
(b) Both (4) and (R) are correct, but (R) is not the correct explanation of (A).
&) (A) is true, but (R) is false.

(d) (A) is false, but (R) is true.’
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(x) SREET (A) : TEET H print() $HE H ITEA BF W A¢e. fwm & fag R

S B 1

FR (R) : T 7 print() Wﬁ%‘w{ﬁgﬁ%ﬂw%ﬁ%mﬁmmw
fopar T N |

P —
(a) (A) 9T (R) A T ¥ O (R), (A) F T @ B

(b) (&) T (R) AT 7 §, AR (R), (A) B & EM T 2
() (A) @ ¥, AT (R) A &l

(d) (A) G B, AT (R) T T

Assertion (A) : The print() function in Python is used to display output

on the screen.

Reason (R) : The print() function in Python can also take multiple

arguments separated by commas.

Options :

1@3 Both (A) and (R) are corr_t_alct and (R) is co_rrect explanation of (A).

(b) Both (A) and (R) are correct, but (R) i;s not the correct explanation of (A).
(c) (A) is true, but (R) is false..

(d) - (A) isgfalse, bu'g“(_R) is true.

P.T:O.
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gUE -
SECTION - B

T " G ¥ e b9 @ of gud wee Ru T ¥

All questions are compulsory. Marks are indicated against each question.

2. YR &H § cPU @ Tof =y 77 B 7 ]
What is the full form of CPU in a computer system ?

3. WG ¥ WEeR o fere (CAT) Rra ofafrm & qea wfia B or ? 1
Under which Act was the Cyber Appellété-’Tfibunal {CAT] established in India ?

4. WEEG A @ JHved ANG F ¥ FA-d T = F drevema €2 1
Which: typé of memory is volatile in nature :. primary ‘memory-or secondary
memory ?

5. IPRFT & 7 1

3208

What is IPR ?

HYqr

OR

% & e Rremr ity ot off T Yl d9E ST @R F [ wewet #

List any two net etiquettes that are important for maintaining respectful

online communication,
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s - q
SECTION-C

e w e R B R T B o T e R b

All questions are compulsory. Marks are indicated against each question.

6. Y wel :

Brar 0% Heaay SR & S O FYER W Y GRd I g B o s o ot
i Bl & deifet @ gt we ¥ oRR o @R | IR mERes o
THRIHS T AN oo b ¥ B weh B B o wrem dw @ ow@ a0t @
ﬁmmﬁﬂﬁéﬁrmﬁmmﬁmﬁﬁ%%ﬁﬂwaﬁﬂw%
FOT IR A F g oI RREE F A BT 92 T B

(i)i TR @ B & wEen | aEeE T 7 _ 1
(a) of@l & T q
(b) e e I S o e g
(c) T P & FR1 die & =
(d) Srarashar § FHHI

(ii) - AR F BT F WA W TR W AR ?
(a) e A Yot
(b) iR fFeaw & gar
(c) oM w @ oifel & e ofrY Rieed
(d) W?ﬁwﬁ-gm

3208 N P.T.O.
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Case Study :

S

Priya iS- a software engineer who spends long hours working on her computer.
While she enjoys the convenience of technology in her daily life, she has also
experienced both positive and negative impacts on her health. Priya finds that
using advanced health apps has helped her manage her fitness better, but she

also faces eye strain and headaches due to prolonged screen time.
()  What is a positive impa_ct of tech:w!ogy on Priya's health ?
(a) _ I.ncreased eye strain
@) Improved fitness m‘an_a_:g'_éﬁ]ent using health apps
(c) E%ack pain due to poor posture
, ;. |
(d) Decreased productivity
(i) What is a negative impact of téchriology on Priya's health ? |
(a) Better sleep patterns

(b) Improved physical fitness

(e} Eye strain and headaches from screen time

(d) Enhanced mental relaxation

7. & "ewslt ® 9 e wwy & R o gEee fam e g

Write a Python program to calculate the sum of two numbers.

3208
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T

OR

qre § e ok eud @ A9 R SR § 7 FWE § WY a6y

What is the difference between a list and a tuple in Python ? Explain with

examples.

WWWWQHW%W@?#WWI 2

‘Write any two differences between system software and application software.

._Wﬁﬂﬁﬁéﬁ@ﬂﬁsﬁaﬁrlﬁm%ﬁm?mr 2

8+5%(3-1)*=2/4
How will Python evaluate the following expression ? Explain.

8+ 5% (3-1)*2/4

39 W

M T Ser Jsiep & o o SO § weEd o gREeT W P B R 8 98 98 39
fed 1 fasawer FA & fog Frer ¥ afs T Yo W ua @ S e e Sedn
Aol R & fo B o W 9 W I A M I ¥ MW 3 3 R
Hadoop #iX Spark & IUHN H UGN HTd &1 W9 fom a1 & 1 gkt & s §
WG ¥, R 3o wRw, ST ok Reder o ¥ @E % @ gifie s w am
P B ¥ B 2 g ol W @l @ e @1

() % F & omaR W, B 3T qer gydr R R s @ 7 1
() B2 Y q¥ ey SRR
(b) e wRel

() 9 3T AW H AT FTN qF wRwErt F e Yot 1 war @@ o1 T

(d) 21 W e
P.T.O.
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(i) R Ter 3 A T HRE w9E e § 3 P-8 O ged g © 7 1
(@) AR IR RS ' I= A

(b) ST ST fajerE=IeE
(c) ®I¢ 3 AeH

(d) ST ger B FH
Case Study 2

Ravi is a data scientist working on a project related to Big Data. He is
responsible for analyzing large dat'as:ets to uncover patterns that can be used
for predictive analytics. He uses tools such as Hadoop and Spark to process
this data efficiently. Ravi i's'awa*_ﬂre of the challeriges that come with Big Data,
including data storage, processing, and analysis. He is also focused on

ensuring that the data is secure and protected from cyber threats.
(i) Based on Révi's work, what is Big Data primarily used for ?
(.'-:1]‘" " Small-scale data processing
(b) - Data storage
© Anal&iir}_g iéfgg_ datasets '_t'c_. uh_(;over pqtterris _fofl predictions
(d) 'E_fu:rypfing déta

(i) Which of the following is one of the key :'chg_lle'n'gés:-of. working with Big
Data ? - | |

ta) High cost of pfocessing and storage
(b) Easy data visualization
(c) Small dataset sizes

(d) Lack of data security
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11. ¥ & SR #Y | - . 2

12.

e :

() (1100110)2 = ()10
(i) (AB2)1s = (?)2
Do the following conversions :
() (1100110)2 = (?)10
(i) (AB2)16 = (?)2
 arer
OR

T, Sifee, mmm@mmmﬁ%wmﬁrﬁaﬁ:

Write the base values of binary, octal, demmal and hexadecimal number

system.

aﬁaﬁﬁmﬁweﬂmﬁﬁﬁmw}hw@% o7 | Rt ﬁ%m@aa
FIfoM AR AT - | | 2

List and explain any two cloud-basad services that you are using at present.
gUe - ¢
-+ . SECTION-D
75 U s 2 uﬁmn&a%mmwmw% -

All questlons are compulsory Marks are indicated against each questmn

13, %Wmmﬁﬁnmﬁ%eﬁmmﬁmﬁ mnmmwmaﬁ

3208

Wnte a python program to calculate average marks of n students using a
function where n is entered by user.
' P. T.O.
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dr

OR

Ry & ofax g oY FaTeRT & WY WHEET

() omgHe &R Wi | |

(i) T R Wbt IR

Differentiate between following with the help of an exarnplf; :

(i) Argument and Parameter
(i) Global and Local Variable
14, FE e F ARE TR AR T ToF F F A d FEer de 4
Draw a block diagram of a computer system and describe the function of each
component briefly. -
SUE
OR
o

Explain the need for an operating system and describe any three functions of
an operating system.

15. TERYT T ¥ 7 T GONE A TEiRer H oneer ey R A dewslt a1 om
‘mmﬁ-%’mq@ﬁé'%mmﬁﬁ@ﬁﬁwﬁmﬁﬁml 4

What is an algorithm ? Explain the need for algorithms in problem solving and

represent an algorithm using a flowchart for finding the product of two
numbers.
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ST |
OR

FFll Ao &1 QW F3, IR R #1, AT R sfem difwdr aefea o

'Hmmﬂwwﬂm@?%aﬁhmﬁmﬁawﬁzﬁraﬂhﬁi

Describe the steps involved in analyzing a problem, developing an algorithm,
coding, and testing and debugging the solution in the problem-solving cycle.

3208



